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Instructions:
i. All questions are compulsory.
ii. ‘Figures to the right indicate full marks
iii. Answer each question on a fresh page and number each question correctly

iv. The question paper has five questions

Q.1 [A] Complete the following statement by choosing the correct option given (01)
below:
Legal Entities that consists of all persons lineally descended from a
common ancestor including their wives & unmarried daughters are known

as .
* Societies & Trusts
* Artificial Juridicial persons
¢ Companies ’
¢ Hindu Undivided Families
[B] Answer the following in one sentence: (01)

What are Revenue Acts?

[C] Explain briefly the following contracts on the basis of formation (03)
a. Express contract
b. Implied contract
¢. Quasi contract

[D]} Explain the role of taxation for the overall development and growth of a (05)
country. (write five points)
OR
Explain the five contracts on the basis of validity.
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Complete the following statement by choosing the correct option given
below:
GSTIN is a unique identification number given to all the tax payable
businesses that comprises of '
* 10 Digit Code
* 12 Digit Code
* 15 Digit Code
* 18 Digit Code

Answer the following in one sentence:
What the full form of CGST?

List down the various documents required to apply for ‘GST".
List down any five Persons and Establishments, who has to compulsorily

register under GST.
OR

List down any five salient features of the Composition Scheme under GST.

Answer the following in a figure or a phrase:
What is the minimum number of members required to start a ‘Public Ltd.
Company?

Answer the following in one sentence :
What is ‘Quorum’ in context to a meeting?

Explain the three parties to a ‘Bill of Exchange’.
Explain any five clauses of ‘Memorandum of Association’.

Answer the following in one sentence:
What is the full form of ‘HSN’ code in Goods and Service Tax?

What is ‘SAC’ code in GST?
Write any two limitations of GST Composition Scheme.

List any two dealers/persons who can opt for Composition Scheme under
GST.

Write any three benefits of GST Registration.
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Answer the following in one sentence:
What are the normal working hours prescribed for the employees, as per
The Minumum Wage Act, 1948.

Explain in brief ‘Meternity Benefits’ extended to the employees as per ESI
Act, 1948,

Write any four provisions regarding health of the worker under The
Factories Act, 1948.

Explain the ‘Medical Benefit’ given to an employee under ESI Act, 1948.

Explain the following classification of employees for the purpose of basic
wages as per Government Notification under The Minimum Wage Act,
1948.

i. Highly Skilled

ii. Skilled

iii. Semiskilled
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